
5.3 Worksheet

1. Find the exact solution(s) to the following for all x.

(a.) cos x =
1

2
(b.) tan x = 1

2. Find the exact soluton(s) to the following for 0◦ ≤ θ < 360◦.

(a.) 2 sin θ −
√
3 = 0 (b.) 2 sin θ + 1 = 0

 



3. Find the exact soluton(s) to the following for 0 ≤ x < 2π.

(a.) cos x = cot x (b.) 2 cos2 x− cos x = 0

4. Find the exact soluton(s) to the following for all x.

(a.) cos2 x+ 4 sin x = −4 (b.) 10 sin2 x+ 7 sin x = 6

5. Find the exact solution(s) to cos2 θ =
1

2
sin 2θ for 0◦ ≤ x < 360◦.


